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Problem 1. Solve the differential equation equation using the Picard Method. What
transformation of the problem is made to use the Picard Method.

dr 5
dt !
z(0) =1

Problem 2. Solve the differential equation using the Euler Method.

dt
z(0) =1

Use h =1/10 and n = 10. Also use h = 1/20 and n = 20. What accuracy are you getting
with the method?

Problem 3. Solve the above differential equation using the Heun Method with the same
set of h’s and n’s. How do you answers compare.

Problem 4. Solve the differential equation using the Taylor Method.

dt
z(0) =1

Use k =2,3,4 and h = 1/10 and n = 10. Also use k = 2,3,4 and h = 1/20 and n = 20.
What accuracy are you getting with the method?



